N

oA viNa ciguicil sd cigudlol vaaa (x + 1) 8. A otssl sA :xt + X3 + 22 +x+ 1

p) = xr + 5+ % + x4 14l vis vAud x + 18l dl x + 1 = 0 A,
SLox=-1
pix) =x*+ 2+ 2 +x+1
nopED = CDY D3+ D24 (1) +
n+ -+ M+ -1)+1
=1-1+1-1+1
sSopEl) =1 Sopl=1) = 0
sopet x4+ 1ol My eusll asidl sl
ddl x + 13l 2 + X33 + X2 + x + 1 -l vlana .

<l 1a cigueliell sd cigueledl saga (x + 1) D. A «issl sA : A+383+3x%2+x+1

p) = + 383 + 32 v x+ TS wAaud x + 1 sld ol x + 1 = 0 2.
SLox=-1

px) =x*+383 +3x2 + x4+ 1

sopED = DY 3ED3 302 () + 1
(1) + 3D + 3(1) + (-1 + 1

=1-3+3-1+1

Sop=1) =1

wpi=1) = 0

sopoa x + 1l Feay el asa Ak,
dfl x + 13 2 + 333 + 3x2 + x + 1 il »ayd -el.

<l 21a ciguelicll sd ciguelell vaaa (x + 1) 8. A «issl s : B-x2- (2 + \/E)x+ J2

plx) = 3 - %2 - (2+\/E)x+\/5 M5 waud x + 1 €ld dl x + 1= 0w,
cox=-1
pix) = x3 - x* - (2+\/E)x+\/§
copel) = (03 - 12 - (2+J§)(—1) +2
(D - (1) - (D (2+42)+42
“1-1+1 (2+42)+42
2+ 2+ \E+«/5
sopEl) = 242
pi1) = 242
s, p(-1) # 0
sopoa x + 1 Al [Fean eell asiy k.

Al x+ 19 x3 - x2 - (2+J§)x+«]§ 4l 2aua Al

oigul g(x)A A GGUEl p(x)oil ANs daAd B 5 «llé A viaAd YA uR?il «issl 53 :
p) =23+ x> -2x-1,8x) =x+ 1

x+1=0 Lx=-1



o

~

px) =2x3 + x2 - 2x - 1

sopED = 218 + ()2 - 2(-1) - 1
2D+ M) +2-1
-2+1+2-1

sopE1l) =0

e, gy plx)-l maya 9.

Giguél g(x)A A Gguel p(x)oil As daAd B 5 «llé A aAd WA uR?il cissl 53 :

px) =33 +3x2 +3x+ 1, g0) =x + 2

x+2=0 LXx==-2

px)  =x3 +3x% +3x + 1
sopE2) = (<23 # 3(-2)2 + 3(-2) + 1
(-8} + 3(4) + 3(-2) + 1
=-8+12-6+1
-14 + 13
LpE2=-1#0
Al 2, gl plo-l ada e,

oldali €354l x - 1 A p(x) ol As idAd &A d k ol (ud Neh
x — 1 3 plo-l »aud 9. oop(l) = 0 U,

plx) = kx? - 3x + k
sopQ) = k(1?2 -3 + k

w0 =k-3+k
W0 =2k-3
S3 =2k
W3k
2
,',k :E
2

odRcli €354l x — 1 A p(x) ol NS idAd &l dl k ol (Gud 2Bl
x - 1 ¥ plx-l vaud 8. oop(l) = 0 A,

px) = kx2 —J2x+ 1

sop) = k()2 =2 + 1

0 = k(1) -2 + 1

L0 = k-v2 +1

WN2-1=k

k=42 -1
ool €354l x — 1 A p(x) ol NS VidAd &l dl k ol (Gud 20l
x — 13 plo-l »aud 9. sop(l) = 0 .

plx) =2x2 + kx + 2

sop) =202 + kQ) + 2

L0 =20 + k+42

odRcli €354l x — 1 A p((x) ol A5 didAd &l dl k ol [(Gud 2Bl

: px) = kx> -3x + k

: px) = kx® —\2x + 1

: px) = 2x% + kx +./2

tp) =% +x+ k



10.

11.

12.

13.

x — 1 3 plo-l »aud 9. sop) = 0w,

px) =x*+x+k
Lopy = M2+ )+ k
0 =1+1+%
0 =2+k&
ook= -2

oiguél g(x)A A Gguel p(x)oil As daAd B 5 «llé A iaAd WA uR?il cissl 53 :

px) =33 - 4x> + 4x + 6, g(x) =x - 3
x-3=0 Lx=73
px) =X -4 + x + 6
~p3) = (3% - 432 + (3) + 6
=27-36+3+6
= 36- 36
p3)=0
Sl UM, glx)3 pla-l Haud o,

<A ina ciguéhiieil sd cigueloll vaaa (x + 1) 8. A «issl s : Brx+x+1

(x + 1) 3 200 ogusl p(a)-dl 215 §ada sld dl plo) = 0y 24 x + 1 =0

x+1=0 Lox=-=1

px) =X +x2+x+1

opED = D3 FD2 D+

-1+ 1)+ 1) +1
=-1+1-1+1
=10

soled %) plod x o+ 1 ad Fudn el wsa 8.

ddl 3+ x2 + x+ 1Al vaud x + 16,

Bidgd ws) : 2x2 + 7x + 3

262+ 7x + 31 ar + bx+cHA ¥adi a =2, b=7,¢c=3

gl l+mz=b=Tullm=ac=2x%x3=6

Z1+6=7 21 1x6=6

I=1xd m=6

b=7=1+6

el 2x2 + Tx +3=2x>+ x + 6x + 3
=x (2x+ 1) + 32x + 1)
=(2x+ 1) (x +3)

s, 262 + Tx+3=(2x+ 1) (x + 3)

BdAd WS : 12x2 - 7x + 1

wdl, X2l ALYASs 12 9.

Il USRS 7 B B AR 1 9.
12x2 - 7x + 1 ax? + bx + c 8 wvlladi a = 12, b= -7, c = 1
gdl+mz=bz=-7
Im=ac=12 x 1

1= (-4) sd m = (-3)

hb=-7=-4-13

e 12x%2 - 7x + 1 = 1222 —4x - 3x + 1
=4x 3x-1) - 1(3x - 1)
=(3x-1 (4x - 1)

MM, 12x2 - 7x + 1 = (3x-1) (4x - 1)



14.

15.

16.

17.

VidRAd UIS) : 6x2 + 5x -6

6x2 +5x -6 a® + bx+ culd Wvlddl @a =6, b =5, c = -6

gl l+m=b=5unilm=ac=56x 6= -36
Al m =9+ (-4
W9+ (—4) =519 x (-4) = -36
8 6x2 + 5% — 6 = 6x2 + 9x — 4x — 6
= 3x (2x + 3) - 2(2x + 3)
= (2x+ 3) Bx -2
MM, 6x% + 5x — 6 = (2x+ 3) (3x - 2)

dAd WIS : 3x2 - x -4

3x2 —x-4dax® + bx+cuad Wwadi a=3, b=-1,c=-4

l+mz=b=-l12wAlm=ac=3x-4=-12

Ll+yrm=-4+3

8 3x% —x -4 = 3x% —4x + 3x - 4
=x(Bx-4) + 13x - 4)

Bx-4) (x+ 1)

MM, 3x2 - x-4=0Bx-4) (x+ 1

BaAd W) : B -2x2 —x + 2

B o242 x4+ 2=x-2x2-x+2
=x3-x- 2x2 4+ 2

x(x2-1D-2x2-1)

w2 -1) (x-2)

x-1Dx+1 (x-2)

M, P -2 —x+2=(x-Dx+1D (x-2)

Jigad wis) : 28 + 2 -2y -1
2§ Udl gL wellal 5 p(1) =0 % p(=1) = 0 9.

Py =2y + ¥y -2y -1
sop) =208 + (12 - 2(1) -1
=20+ -2-1

=2 &l = 3=l
Loply =0
py) = 2 + ¥ -2y -1
sopED = 218 + ()2 - 2(-1) - 1
=2+ ) +2-1
=-2+1+2-1
sopEl) =0

AU WHA 2R s ws S [y — (-1)] 2ald y+ 12 p(x)-l »ladd ©.



oA UHAA IR sEl As F Yy — 13 p(pieil Haud 89,
2y3 + y2 -2y-1

y-1
2y° +3y+1

=2 +3y+ 1

y-1 2y3+y272y71
gy3_2y2
3yF -2y 1
3y - 3y
— +
¥y -1
¥y -1

-+

0
L2P YR -2y—1=(y=1) 22+ 3y + 1)
={y-1 22+ 2y +y+ 1)]
S(y-D2yy+1+1 (y+ 1)
2P+ -2y—1=(y-1) (y+ D2y + 1)
23 +y? - 2y-1
YT Ay - 2y So2 _yo1

y+1
> U8 Ul gL el 3 p(l)
Py =2 + ¥ -2y -1

03 p-1)=09.

Lop) =23 + (12 -2 -1
=20+ -2-1
=2 il =3 =l

Lop)y =0

Py = 20+ -2y -1

LpEl) =213 + (12 - 2(-1) - 1
=2+ (M) +2-1
=-2+1+2-1

sLopED =0

oAU URUA AR sl wsi s [y - (<1)] ald y+ 1l px)-dl 2add 8.
oA UHAA IR sEl As F Yy — 13 p(pieil Haud 89,
2y3 + y2 - 2y-1

¥-1
2y° +3y+1

=2y +3y+ 1

y-1 2y3+y272y71
23/3721/2
3y - 2y-1
3y - 3y
— +
¥ -1
y-1

-+

0
L2P 2 -2y—1=(y-1) 2y +3y+ 1)
={y-1 2%+ 2y +y+ 1)



=y-1D2yy+1+1 ¥+ 1)
2P+ -2y-1=(y-1 (y+ DH2y+1)
3 2
&1+?+1&f1 :&F—y—l
18. dAd wis) : 3 -3x2-9x-5
> sl Ml glRLAR(N S p(1) =08 5 p(-1) =0 8.
px) =x-3x2-9x-5
Lop) =P -312 -9 -5
(M -31-9-5

=1-3-9-5
=1-17

nop(ly = -16 # 0 ddl p(1) £ 0.

plx) =x-3x2-9x-5

sopll) = (D3 - 312 -9(-1) -5
=1 -31)+9-5
=-1-3+9-5

0g p(—l) =0

weél, p(-1) = 0 YU & dell Blaya UHUA 2R [x - (-1)] 21ed x + 1 3 p)l A9 %Y.

22 -3x% -9x-5

x+1
2
x -4x-5
x+1 | x*-3x*-9x-5
x3+x2
—4x* - 9x

—4x? _4x
+ +

-5x-5

-5x-5
+ +

0
X -3x2—9x-5=(x+1) (x2-4x-5)

=(x+1) [x2-5x+x-5]
=(x+ 1) [x(x-5)+1 (x-5)]
=(x+1) [(x-5) (x+1)]
-3 —9x-5=(x+1) (x-5) (x+ 1}
19.  JdgAd ws) : X3 + 13x2 + 32x + 20
> gl Mdell gzl el 5 p(l) = 08 3 p(=1) = 0 8.
px)  =x3 4+ 13x% + 32x + 20
sop) = (13 + 13(1)% + 32(1) + 20
(1) + 13(1) + 32(1) + 20
1+ 13+ 32+ 20
Sopdy =66 20
px)  =x3 4+ 13x% + 32x + 20
sop1) = (13 + 13(-1D2 + 32(-1) + 20
= (-1) + 13(-1) + 32(-1) + 20
=(-1) + 13 -32 + 20
=-33+ 33

=x2 - 4x -5




0g p(—l) =0
wdl, p=1) = 0 g1 © dell siada WHAA R [x — (<1)] 2ed x + 1 3L p(x)-l xaya §.

22+ 13x% +32x+ 20
x+1
22+ 12x+ 20

x+1 |[X*+13x%+32x+20

x3+x2

=x2 + 12x + 20

12x% + 32x
125° + 12x

20x + 20
20x + 20
0
A+ 132 +32x+20 = (x+ D) (x2+ 12x + 20)
= (x+ 1) [x2+ 2x + 10x + 20]
x+ D [xE+2)+10 (x+2)]
=+ 1D (x+2) (x+ 10)



